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- lers Is given and its code equiv- 1 83 tﬂlﬁﬁ
rections (1 - 3) 4 1 .
eilowngoestons e otang. oo frnbow Seect e 965 (g8
drens which hagbees: regroduced co, -+ yeontalninghecorrect 8. Which of the following centre
agaiost (1 (3 (9) and (4) three of g sopmry palrs begtnwith Zeso'sectal mam-
. which have of the oth- ber candidates ?
ﬂtThumﬂm“mmw I8 your (1) lkevmf, pjwiod, gsrxvn (1) 48 and 85 (2] 48 and 65
answer, . ) (3) 65 and 85 {4) 56 and 85
1. Mr. Ramachandran (2) Tovsen, phagda, gixeoy. abrwid 9, Which of the following centre
1068/90, AFO. + (3 afdber, gimzqp, pyfkol, lasivh pairs had common serial num-
_ B“"i'h“ . (4) golnrp, lerunh, pehpwy, ase- ber candidates 7
() M. Im"- mataial tin (1) 82 and 65 (2) 56 and 65
ibﬁah.rmwammm. en 4 ﬂcwﬂ iod (3) 85and 83 (4) 48 and 65
Jore K ki cvinl, pjwlod, garxvn,  10. Which of the following cohumns
i’& lit‘tiin!‘ﬂ‘aluiniﬂ a:yﬂlf * ETEfﬂﬂtﬂfcnﬂif]iilﬂﬁjHﬂuhfﬂﬂh
lﬂﬁkgfﬁﬂﬁ-ﬁ& lﬂg&ﬂﬁ,phzgda. ghxoeny, abr- other in some way 7
Bangalor (Karnataks) - Ljnfm[wiv
(3) M. Ran . (3) afdber, gimzgp, pyfkal, lasivh i3
dny [4} golnrp, Baunh, pehpwy, asc- 16 111764
1086780, AF.0. il Py 6 [20)24 [17 |06
HWW B. JBEGFV 8 |s5a|a2 |50 128
1088/90, AF.O, - (1) lkeymf, pjwiod, gsrxvn, 121101 46 | 14 | 192
o SLEAL azjeuy . . 16|36 | 64 | 35 | 256
2. Tarasatear Rastogl {2) Tovaeo, phzgda, ghxcay, abr- 23[92]92 | 46 | 368
A-22, Ind Road wid (1} Columns I, 11T and TV
438065 {3) afdber, grmzap, pyikol, lasivh 2} Columna I, 11 and IV
(1) Ta ,I-E kar Rastogl (4) golnrp, Uorunh, pehpwy, aee- (3] Columns I1, 1T and ¥
" A-82 Indrani Road tin 4 Columna I, Il and ¥ -
_ 436085 Directions (6 - 8) : Below are Directlons (11 - 15) : Aword is
@ wﬂmﬁwh Rasiog ghven some Roll Numbers of candidates  represented by only one set of num-
A9 Indrest foed reglstered at different centres for an  bers as given In any one of the alter-
Suridargarh 436065 examination. The first two digits from  natives. The sets of numbers given in
T the left stand for the centre code and the alternatives are represented by two
(3) Tarssankar Rastog the next four for the serial number of  classes of alphabets as in two matri-
A-22, thdrant Road Il'ltt:andidatu reglstered at the cen-  ces given below. The columns and
mwm tre : rows of Matrix | are numbered from 0
| Tarasankar Rastogl 834381 562639 658899 854593 to 4 and that of Matrix Il are num-
A-22, Indrant Road 653831 650183 BI2684 A31064 bered from 5 to 9, A letter from theae
Sundargarh 436065 562068 482290 561006 652020 mairices can be represented first by
. 855493 B854350 486802 850060  its row and next by its column, eg.,
e litom h o Belovareel.  gasnyy a3cos0 652200 g36ssy A’ Can be represented by 00, 12, 23
letter. asosdl It ummm 567956 B57506 852006 562100 E‘;-;f;"ﬂ'l’m'*“ﬂ“;‘mhfﬂ
e S which Now answer the f; , 75 ete. Similarly, you have to iden-
mhc:u_mmmde:rufrmmmm dons | im%m;ﬁ*“ tify the set for the word given in each
e Numbers. st
ABCIDIE|F|G|H|T|J|E|L|M Lt Matrix |
Halplkirliixle qlgit w|z ﬂuﬂﬂiﬂﬁfﬂﬁmﬁmﬁ 0[1]2[3]4
Njo|pi@|R|S|TIU[vIw|x|¥|z whose all digits are even ? AR ™
um\r!ay;dhf.hh,gf (1) 83 ' (2} 56 <
In each of the following ques- (3 65 4} 85 LN[CIAIRIS
tions, a group of six CapitalLet- 7. Which of the following centres 2|S|NICIAR
had highest serfal number can- JIR|S|N|C|A
didate ? : slc|alr|s]N
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Matrix Ii 30. 7, 16, 27, 40, 55, _ 7 s
7 12 72 ~
s|B|7[8B[9 3 &1 4} 66 ’ ‘ : !
EIDIEILIPIT] 21. Tah, T20, 380, 120, 30, 8, _7 -
g(Tlo[ElL]r w1 @2 T T
TIP|TI|O|E|L 3 3 4 5 34,
BILIP|(TIOIE 23, gmestion Flgures : . ] - .
g|E|L|P|T]O ? @ % _ E
1. {EL'ETIE 21, 14, 85 : Wm0 L &,
o Anwwer Figures aal .
[2) &6, 12, 31, 78 Directions (35 -d4d] : Select the
[ 58, 41, 12, 67 mwmdﬂuuuufnumhfﬁﬂg}m
m,Ll',lq:-sz:a\ﬂlﬂu-r.;:|I Q:P D 8 CD 38, Poed : Poem - Dramitist : 7
(1) 13, 12, B8, &7 i (1 TR (1) Tiadogue I12+ Slage
(2) 42, 28, 56. 76 ) (3) Flay 14) Direction
(3) 30 14 95 80 43, Guestion Figures : 88 Handwome : Beautiiul = Man : 7
(4 24, 43, 89, 95 - . e ﬂhimm %x
5. poet AlB]IV] 2] oo
(1) 69. 88, 67, 65 PG CRaMO:T
(2] 75. 65, 65, 67 Anwwer Figures : mﬂ'ﬂ ; E?a
(3 77. &8, 98, 78 - m?ﬁma- [_U?I?
4] 75, 66, 76, 78 — ) : S HIT:?
WLy A7 < 1)KL (2 MLK
{1) 32, 56, 20, 89 e (3] MEL £1] u-m?
{2 10. 65, 41, 76 il i TR 39, QFRS : TUWV :: JIKL ; ?
(3 32. 76, 34, 98 24. Which one set of letters when (1] NMOF  [2) NMPO
(4 21, &7, 14, 58 sequentially placed at the gaps in & rmm_ (4 MNOP
18- PEST the phven letier saries shall com- 40, 10: 101 207
(1) 97. 89, 34, 50 plete it 7 (1) 200 [2) 201
i2) 58 &7, 43, 08 P — q8p — — &prgq — prgs () 400 (41 401
{3) 57. 58, 31, 58 (1] srgs (2} rrga 41 435 : 768 ¢ 824 : 7
{4) B&, 95, 31, 76 {3 ras (4} rrgqr = (11887 2 567
Directions [ 18 = 17) : Arrange Directions [ 25~ 24) : Select th (3) 765 (4] 675
the following in a logical order starting N Which bs different from the other 42, 11:121: 110 15 225 210
frorn thee smallest, - three FEHpOEEs. ]
18 1, Ocean 2. Sea 28. (1) Bangkok (1 9:81:70
3. Pond | 4. River . {2} Yangon (Rangean) {2 18 : 361 : 342
38142 3421 13} Jeddah {3 17 : 288 : 272
(91,4223 #2431 (4 Kabud 1) 16 : 255 : 238
17. 1. Centi 2. Deca 26. (1) Happinesa 43. Question Figures: .
3. Kilo 4. Deci 12} Honesty .
M4 1.3.2 @23 41 ﬂmm W@@ 0
91,422 #4231 ar. ) EPHI"‘“’ & | v | :
Directions [ 18 -23): Aseries . Fiat —
is given with one term misaing, Choose (3) HSK = 4 KWD Answer Figures :
the correct alternative from the gven  20- {;: BCUV ﬁw —
ones that will complete the serics, MNTU
18 YVSPM _7_ 0. (1) ECDBA {3 OMNLK D{} @ @ @
(1) J 2 K 3 WUVTS . [4) SRTQP - ol - =
8L (41 0. (1) 65 [ B L} 1_‘] {
18, XYZ, ABC, UVW. DEF, RST, 13} 35 W 44 guestion Figures:
GHI, _7 3. (1) 10-60 (2 30- 90 L
{1 vvw 12) JEL {3 40- 240 [4) 20 - 120 $|%|:$ n
3 oFg 4 NOP 2. (1) 81-9 [2) 8 - G4 y !
3 54 -8 ) 3-27 ST g
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Ansiwer Pigures ‘B3. Inarowof girls, Kamals latenth 81, OCCURATIONAL
— : from the left and Yimala is (1) HATURAL
b ¥ oy twelith from the right. When they {2} PORTION
I B 1 exchangs thelr placés, Kamals ls (3} RATIONAL
L abcteenth from thedeft. What s {4} OPTIONAL
¥ IR T 1 i4] ﬂumpmﬂbnnnﬂ'imhﬁ'm :
_ i 44 2 47) - -theright ? . Directions (B2-84) : From the
Direitlonn [ 47) : Some ghven alternative words, select the
equations wre solved on the baals of a (1) 18th (2] 22nd word which cannotbe formed using
certain system. On the same basis, ) 26th i 2t the letters of the given word,
find out the correct answer from IL KSRTC bals left Bangalore for g3, COMPLETION
amongst the four alternatives for the Tumbkur at an average apesd of (1] COME ) TEN
unmheduqxgﬂunmm-qmum 50 kam//hr. An hour later a car 13 TEA [#) LION
48, 4 = 4 =75, ﬂuﬁ <26, Tx7= left the same station following the 83, EXPERIENCE
39, 5x5=7, . bus &t an iverage speed of 75 [l]PIiZEE [2) EXPERT
{1 25 15 kn/he. How far from :
@ 10 @ 26 did the car overtake thebus? | ) RIPE  14) PEN
0 4o de 126,62 (1) 200km {2 100 km 04. EXAMINATION
s gog oo o0dsied (3 150km (i Skm (L) ANIMATICN (2) NATION
_ Diroctions : In a code 3) MINT H) NOTION
s 2 38 ,wlmmmm Diyections (63-68) : Sclect the
l'a]s'ﬁ 4 16 Mdmam“ﬂ.ﬂ.m mﬂmrﬁmmwm'
47. 1602743, 20(N56, 9601248 How are the given lettera coded in that ~ POn8es. :
123 3 ay language ? 85.5 &8 9
(3 27 i a7 7 6 8
48. If - mieans additdon, +' means 8. :g:;:??::g 8 7 ?
subtraction. ' means divislon —= 21 21 21
and '+ means multiplication. then QRCYNFD mz 26
W 1045 + 63 =P (1] 5288067 (3) 5208061 - s 4
a3 {2 12 (@) 6884067  (4) 5208306 8.7 & &
i3 15 4w B8 [BlalCILIEfD]x[g[W]d ":'2 ?3 .?
48, A father increases pocket mon- gjifofald[Ti6]2][a (2
ey of his eon by 20%%, If son geta ubi 10 486
Rs. 300 after increase, find his LA 7 @ 12
pocket thoney before Increase. E;' ;E‘;?;i ) 8 (48
1) Ra.
e 20 i o
@) R, 00 {4} 745813 ' 7 45
) Rs, 230 87, ILE:;& CEF = 24, then what . 29
[y el e value of HUX #
BO. Ais B's brother, € i A'3 mother, (1) 47 the 2 _‘gux
Dls O cr, B ls D's grand- (3 51 {4 53 15 1
:“hﬂ‘f How is B related 0 gg the etters of the glven word have 17
gemnr "been coded in a particular
(1) Aunt {2 Cotsin wrilonl
o it : Using those, find out the word s 2 10
fece ~ () Grandaimt fior the ghven question mark (7). i3 14 {4 18
B1. The totalage of & mother and her FEAST ? :
‘daughter is 80 Years. The dif- ROCWR WCNG .
ference between thet' ages is 30 " (1) FESA ‘(2] SAFE
yearh. Find out the age of he (3 SFAE [4) EFAS N 30N /Y
i B8, If GECA 8642, th
() 40 yeard (2 46 yeass. HFBDmeans T ; 12
(@ 50years i) 56 years §1) 97356 2} 7953 (1) 27 @
3. Nishiris taller than Sujs. Nina is {3 T35 {4 5370 (3 28 17
taller thian Nishia. Wila i taller Iﬂunumqm-qu:ﬂ'mmg a8, .

than Mina:Nisks s the tallst of

<ll. If they stapg, groording te
thelr helght, whowil] b& in the
middle ?
(1) Nisha

(3 Suga

14 Nila

given alternative words, select the
ward which can be formed uaing the'
letters of the given word.
&0, DISCOVERY _
1] STORY {2 RECOVER
A ROARED (4] DECOY

13N ¥ n 7

YTY
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(1 3s {2} 36 (1) Only 1 follows 80. In the ghven figure. there are
3 37 4 33 (2 Oniy Il follows three intersecting circies repre-
T0. Ram starts from & point A and (3 Meither | nor 1l follows peniting certain wections of peo-

walks & km North, then turns
left and walks 8 k. Then tums
left and walks 12 km ujp to the
polnt B. What is the'direction of
Ram 7

[T} Morth
[2) Scuth
[# East
[4) West

T1. Sita walks 1 kum to East, turns
right and walles another 1 km and
then tums et and walks 2 kon
and again turming b her bt trav-
els 5 km, How far-ls Sita fritin
heer steirting pobnt ? {Consider the
shortest distance.)
(1) 8 km T -
(3 5 km - ) 8 on

72. Pive different coloured busss are
standing in a row facing South.
Black colouredbus s
in the immediate right of Red.
Green colour is between Blue
and Yellow, Yellow colour is be-
tween Black and Creen, Which
caloured bus s standing in dee
el P
(1} Yellow
(2} Biue
(3} Black
4} Green

Ta. Aand B started to travel from a
point in oppostte directions. Both
travelled 5 kim and turmed tothelr
right and. trevelled 7 k. Then
again they turned to thedr right
and travelled 5 km. What 1s the
" distance between them now ¥
A1) 10 km
2] 12 ke
1 14 km
4 17 km

two concluakons, [and I, You have to
constder the atatementls) to be true,
even if it/they seemis) to be at var-
ance from commonty known facts. You
have 1o decide which of the ghoen con-
clustons, f any, follow{al froon the ghv-
en'statemnentis),
T4 Btatements :

gl Some shoes ars White.

] All White are Bhae,

Conclusions:' -

1. All shoes are Blue,

1. Some ahoes are Blue,

™

[4) Both I and 1l folow
Blaitwearis :

Educated unemployment s the
result of poor quality of educa-
theme, .

Conrdrafons :

I. Education should enahlethe
irwdivicheal to find ot & wsefial
employment. .

Al. Ponr performmnce of the em-
ployesa is the result of poor

- - quality gf education.

(1) Only | follows

2 Omily 11 follows

13 Neither | nordl follows

(4 Both1 smad 11 foliow

4. Bimtersents*

k. 3

o) AD froge are tortoises.

b Mo tortolse b a crocodile,

Conclostons :

I. Mocrocodile is a frog.

II. Nao frog is a crocodile.

(1] Omiby 1 follows

(2) Only Nl follows

(A Both I and Il follow

{4} Melther 1 nor 1 follows

Batements :

Special educational Facllities are

betng provided 1o tribals.

Conclusions :

1. The tribals do pot want to be
educated. ’

II. Government wants the tribals

. tobelterate.

(1} Omby I is implicit

{2 Ondy I tenphicit

(3} Both I and II are implicit.

(4] Nefther [ nor 11 s implicit

Which onte of the following dia-

gramms best depicts the relation-

ERe©

(1} (e W

T8 Which one ol the folowing dia-

grams best depicts the relation-

I 950

moom W

‘Ple: "Different secilobme jre
rnarked by numbérs | o 7. Réad

1lch one of the following state-
ients is cormect with regard 1o
ihe given diagram 7
(1 A andrB are in-all the three
shapes
(@ E, A, B and C are in.all the
three shapes -
{3 F. C, D, B, and A are in all
{4) Only B i& in all the three

shapey, .
ifa 1 the line
mm 'i:tﬂm er fig-

. uresls of the giv:

ed questipn figure ?
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Abvwe Vighren: Anwwer Figimop: 93. Guestion Figure'
eV e O
: { aall|D o B
m @ 6y W T I F TR ¢ TRV '
88, Find the number of trianglés in Anywer Figares |

oKl

14 © e
3 13 . M 10

M. Among the four answers fgures,
which Bgnire can be formed from
the eul-pleces given below in the
question figure 7
mantion Figers |

Z

Anwwer Pigures :

HEALE

[T B R F TR

B8 I a cube I made using the gv-
en arrasigements, which colour
'!rlll hc oppoaite the colour

ﬂ%ﬂﬂ

mm ' Hm

%7, Guestion ¥

(L A I - PR

858, Qnestion Fljore:

Seae

o W
M, guostion Figures :

Ol
IS

i ) i)
00. Question Figures :

MG 2]#

w

i [H] A

Directions (91-84) : Which an-
swer figure will complete the question
figure,
9L Guostion Pigire :

2
Y
Il-l!m:

|

moom L e

N
AN

R} B

Yy (2 3. M

@ m
Directions (B8-88] : From the

ghren anawer Agures, select the one

inwhich the question llguse 1s hiddan

embedded.

8. Question Figure :

ﬁb .
H-lill.ﬂ.mm

=l P =

e

(A (3] id]

98, Quostion Figure :

gl
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Anwwer Figares 1

B9 N

i 12 (3 (]

Drections (BF7=88) : Which ane
of the answer Ngures s hidden in the

E]

Directions (S6=-100) © You are
given the mamg of & town and & date
folhywed by four altermmies. Of thess,
oely ore mabches while the others have
‘somee madsakes, Yoo are 0o chocss -
arily the same fs the ghen ome qs your

15th Ocioh. A5
IOk FovlSrmegdy -
. nlser, qu,-j.
. onche o
Lol Bhovembier,. 1905
(3 Hathiesarga
lrat Movember, 1995
{31 Kathamandi

15 Movember, 1505
[#4) Falhmmandu
lat Nosnernber, 1905
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Answer: General

Intelligence
1| 4 26| 3 51 2 76 | 3
2| 4 27| 4 52 | 2 77 | 2
3] 2 28| 4 53 1 78 | 1
4| 4 29| 4 54 | 3 79 | 3
5/ 1 30| 4 55 1 80 | 3
6| 1 31| 2 56 | 4 81 | 4
70 2 32| 2 57 | 4 82 | 1
8| 3 33| 4 58 | 2 83 | 2
9| 4 34 3 59 1 84 | 2
10| 4 35| 3 60 | 4 85 | 4
11| 2 36| 3 61 | 4 86 | 3
12| 1 37| 4 62 | 3 87 | 2
13| 1 38| 2 63 | 2 88 | 2
14| 4 39 3 64 | 4 89 | 2
15| 2 40| 4 65 | 2 90 | 2
16| 2 41| 1 66 | 4 91 | 4
17| 3 42| 2 67 | 3 92 | 4
18| 1 43| 1 68 | 2 93 | 2
19| 3 44| 2 69 | 3 94 | 3
20| 2 45| 2 70 | 2 95 | 3
21| 1 46| 3 71 | 3 % | 3
22| 2 47| 3 72 1 97 | 2
23| 3 48| 3 73 | 3 98 | 3
24| 2 49| 1 74 | 2 99 | 4
25| 3 50 1 75 1 100 | 1




